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. Whi , & 87
‘ch of the following is a measure 1. P ¥ 3 -1 A0 Lk gqﬁ-‘l
Of central vajyes

{A) Median ) T

(B) Standarg deviation. ®) T e
(C) Mean deviation (©) s e
(D) Quartile deviation (D) ek forer

2. Which of the following is not a 2. FedY = a7
Mathematical average?

(A) TH=X HIEY
(A) Arithmetic Mean

(B) TUIRR #1em
(B) Geometric Mean
(C) Harmonic Mean © s
{D): Mode (D) dgr®

-, Which of the following can not be 3. f7 % 3 f5erdh o fag ¥ Aty ama
obtained by graphical method? & & gPar?

(A) Arithmetic Mean (A) AR A\

(B) Median (B) itz
{C) Mode (C) sged
(D) Quartiles (D) ugds
4. Which of the following represent 4. Fm= % ¥ s om AegST 3 31-?13
Median? PRl 87
(A) First Quartile (A) Wﬂﬂﬁjﬁ
H('E’!,) 50™ percentile (B) vaEat siwm
(C) Sixth decile (C) wadt avmes
(D) None of the above (D) 3er § B 7

1034\A\2024-25 [3] PTO
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One of the method to find out mode
is

(A) Mode = 3 Median + 2 Mean

(B) Mode = 2 Median - 3 Mean

(C) Mode = 3 Median - 2 Mean

\U) Mode = 3 Median - 3 Mean
One of the Measure of Central
Tendency is :

Q) Mode

(B) Measure of dispersion

(C) Measure of skewness

(D) Mean deviation

The Average of Position is :

(A) Arithmetic Mean

(B) Median |

(C) Geometric Mean

(D) Harmonic Mean

How many Quartiles can be calculated
in Series? _
(A) 2

{8) 3

(©) 4

(D) None of these

1034\A12024.25

(4]

(A) Mode = 3 Median + 2 Mean
(B) Mode = 2 Median - 3 Mean
(C) Mode = 3 Median - 2 Mean
(D) Mode = 3 Median - 3 Mean
2 vfey & w3 v &

(A) TETD

(B) 3mfRor & AT

(C) fouwar & wrg

(D) i fame=

ferfer wvaelt wmear 2-

(A) THERR #Ed

(B) wiftza

(C) TOIR wrex

(D) IS HIEY

e T A feam aqeidl & o &t S
HHAl 67

(A) 2

(B) 3

(C) 4

(D) W A P T
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The value of
Value of :
(A) 1.5 of Median
(B) 3% decile

\SE) 75" percentile

(D) None of these

10. 75w Percentile

(A) D7

(B) >D7

V0 Q

(D) None of these

11. The middle of value of an ordered

series is called :

(A) 2nd Quartile
(B) 5th decile
L) 50th Percentile
(D) All of the above

12. Which of the following is a Unit less
measure of dispersion?
(A) Mean deviation

(B) Standard deviation

(C) Co-efficient of Variation

(D) Range
1034\A\2024-25

Q, will be equal to the

10.

11.

Q, I Wi IR F-
(A) 1.5 of Median
(B) 3 decile

(C) 75" percentile
(D) 3™ I 31F &
75 df Srowas 2-

(A) D7

(B) >D7

(C) Q,

(D) 37 ¥ 31§ =t
OB ST AT BT Teh- 3y e -
(A) feiras e
(B) 9w wum®

(C) varTaET raws

(D) 3w bt

- Frfefem & & o o < afscor

& g &2

{(A) ez famers
(B) Wy faerer
(C) fararor 7oviss

(D) fear
PT.0.
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13. Which one of the given Measure of
dispersion is considered best-

-a(_f‘) Standard deviation
(B) Variance
(C) Range

(D) Co-efficient of variance

14. The square of the Standard Deviation

is called :
(A) Modulus

{B) Variance

(C) Co-efficient of correlation

(D) None of the above

15. Out of the Measure of dispersion the

easiest one to calculate is :
(;4) Range

(B) Variance

(C) Quartile deviation

(D) Standard deviation

1034\A\2024-25

13.

14,

15.

Ry Y 3fAROT & WG F BT HY fyey
| S 7

(A) v faerd

(B) WRROT

(C) fawR

(D) férRoT Ui

yo1q fae &1 @i deel 8-

(A) oD

(B) SEROT

(c)- HE-9Y Tih

(D) 304 # & BIg el

| JOfeReT & ANl A F e §
TRl A &-

(A) fomw

(B) SRRUT

(C) Tqds faaem
(D) wa fauas
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16.

17.

Which Measure of dispersion can
be calculated is case of open-en?
intervals :

f.A) Range

(B) Quartile deviation

(C) Standard deviation

(D) Co-efficient of variable

Which measure of dispersion is least
affected by extreme value?
(A).\Range

(B) - Quartile deviation

(C) Mean deviation

(D) Standard deviation

. Standard deviation is calculated {?f/

the basis of :

(A) Arithmetic Mean
(B) Median

(C) Mode

(\D) None of these

For a normal distribution

(A) QD>MD

(B) QD<MD

(C) QD=MD

(D) None of these

1034\A\2024-25

17.

(7]

18.

19.

(D) faeRol qoiicd
oy & P 7 T e ¥ B
yeifaa e 87

(C) sgn®

(D) & | B el
A faeRor #-
(A) QD>MD

(B) QD<MD

(C) QD=MD

(D) T ¥ I T

P.T.0.
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20.
(A} Geometric Mean
(B) Arithmetic Mean
(C) Harmonic Mean

(D) None of these

21. For a approximately normal
distribution :
_2
(A) M.D. =% S.D.
_3
(B) M.D. =% S.D
(C) M.D. =% S.D.

{D) None of these
22.
coefficient of skewness?
(A) Oto1
_(__B) -1to +1 |
(C) Oto 3
(D} -3to 3
23.
jf_}l Mean>Median>Mode
(B) Mean>Mode>Median
(C) Mode>Mean>Median

(D)} Mode>Median> Mean
1034\A\2024-25

Average speed can be calculated by:

What are the limits of Bowley's

In a Positively skewed distribution *

[8]

20,

21.

22.

23.

e wifty B 0T B 0 D B
(A) IR AT

(B) IR WA
(C) RS HAIEA
(D) o= q P 7F

amym e faaRor #-
(A) M.D. =
(B) M.D. =
(C) MD. =%
(D) &7 ¥ 2% T8

T30 o g @ A o &2
(A) Oto1l

(B) -1to +1

(C) Oto3

(D) -3to3

TP SIS T ey ques #-
(A) Mean>Median>Mode
(B) Mean>Mode>Median

(C) Mode>Mean>Median

(D) Mode>Median> Mean
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@. Which Measure of Central Tendency' 25.

26.

Data onginally collected in the

Process of Investigation are known

as

(A) Foreign data
Q Primary data
(C) Third data

(D) Secondary data

takes into account the Magnitude of

Scores?

(A) Median

f) Range

(C) Mode

(D) Mean

Following are the Partition vaIL{e
except :

(A) Deciles

(B) Quartile

(E:) Mode

(D) Percentile

1034\A\2024-25

" 26,

(A) faeh sifds

(B) wrafie Fids

(C) T 3y

(D) fedos siis

&g wgf 1 Si-w1 A A S IR
B I § T d?

(A) wiftaa

(B) WK

(C) sgT™®

(D) =g

Frefeiaa fewnfse wea 8, Ry

(A) =S
(B) ¥

(€) s=g®

(D) ¥Ian®

P.T.O.

https://www.rmpssuonline.com


https://www.rmpssuonline.com/

27. Which of the

28.

29.

30.

1034\A\2024.-25

following Is ngt,

a common measure of central

tendency?

(A) Mean

{B) Mode

(C) Median

Q}) Range

Which of these is a relative measure
of dispersion?

(A) Standard Diviation

(B) Variance

(C) Coefficient of variance

(D) None of fhese

Coefficient of correlation explains :
(A) Concentration

(B) Relation

(C) Dispersion

.(D) Asymmetry

Rank correlation coefficient was
discovered by
(A)

(B) Karl Pearson

Fisher

.C) Spearman

(D) Bowley

27.

28.

29.

30.

[10]

(D) WK
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31,

32,

33.

34,

Mid-value of 50-60 s :
(A) so
{(B) 55
(©) 60
(D) 54

Classification of data according to

location or areas is called :

(A) Qualitative classification
(B) Quantitative classification
"‘“:._) Geographical classification |
(D) Chronological classification
Statistical inquiry means :

(A) Itis science of knowlédge
(B) Search for knowledge
(C) Collection of anything
(HHD) Search for knowledge with the
help of statistical method

The father of statistics is :

(A) Marshall

Q) Gottfried Achenwall

(C) Galton

(D) Bowley

1034\A\2024-25

31.

32.

33.

34,

(1]

50-60 &1 7eg gF4 &-

(A) 50

(B) S5

(C) 60

(D) 54

W o & & 3R 3wl & arfaor
N T T &-

(A) oA iR

(B) T auifasor

(C) sihifers Fifaor

(D) reTgplie affasor
Wiy sita &1 aref -
(A) T& s & fore famme &
(B) 3 & fowe arawor
(C) & o A=t &1 wwrgor

(D) wiferdSa RAfrY & g & 5

CRCIER )
WINPT ¥ & FarEr 3
(A) el
(B) TICHE IMb-are
(C) A

(D) T3
P.T.0.
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35.

36.

38.

"Statistics is the
calculations".
this :
(A} Yule & Kendall
(B) Dr. Bowley
(C) King
(D) Boddington

atistics can indicate to :
(A) Numerical statement
(B) Statistical method
(C) Any above of these

‘D) None of these

. Statistics studies -

(A) Individual Units

| _(g? Aggregates

(C) Individual units and aggregates
(D) None of these

The term 'Statistics' was firstly used
in:
(A) 1741
(B)
Q)
(D)

1759
1749

None of these

1034\A\2024-25

[12]

science of -

Whose statement is’

35,

36.

37.

38.

uﬂﬁ@naa:nnqraﬂfaana“!m!aﬂmaﬁﬂmm
&

(A) T UF HUBTE

(B) &f. i3

(C) f&u

(D) afféme
wifera Wt Fal &-
(A) HEATHS T

(B) wifesra faftt
(C) AT

(D) 379 & &5 7l
iRera 3regg= e -
(A) e soral &
(B) @@ &

(C) =i soat vd wwg o
(D) &9 ¥ 3 78

Hilea' o &1 W v Ryar mar-
(A) 1741
(B) 1759

(C) 1749

(D) =W ¥ B 7
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40.

41.

1034\A\2024-25

{A) Mathematice
(B) Economists
(C) Scientist

(D) Businessman

Sampling is 5 Process of learning

about the .
~(A) Sample
(B) Population
(C) None of the above
(D) Both of the above
Method of investigation is :
(A) Census method
(B) Sample method
¥C) Both of the above
(D) None of these
On the basis of arrangement of dafa:
(A) Raw data
(B) Arranged data
(C) Both

(D) None of these

[13]

40.

41,

42.

(B) arefmen
(C) dfe
(D) wEwmrY
wierea ves Rty &, sreama ai-

(A) ufteef & aRr &

(B) ¥ & aR &

(C) aFT & ¥ fosh & fore =
(D) ST ar F

I 3 Ofy -

(A) wmorFT Ofy

(B) widest Oy

(C) IR

(D) & o

D] Bl AT F AR W D 2 &
(A) I=maRea T

(B) =aRed s

(C) 2

(D) ¥ ¥ B 7

P.T.0.
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43,

44.

The data collected by the investigator

himself is called :

(A) Primary
e

{B) Secondary

(C) Both Primary and Secondary
(D) None of the above

Data collected from the newspapeg

-

is an example of :
(A)

B}
(C)

Primary data

Secondary data

Both Primary and secondary
data

(D) None of the above

45. | Primary data is edited :

46.

1034\A\2024-25

(A) For consistency

(B) For uniformity

(C) For completeness

’E} All these .

Which is not a type of statistical table
from the following?
(A) Individual

(B) Discrete

(C) Continuous

El Signed

[14]

44,

45.

46.

(B) feham sifdel &
(C) wrifhe vd fgdiias 3wl aFi ©
(D) 3Gt # 9 P T

qrIfie WHS! BT TR far S #-
(A) wnfa & fere

(B) wowual & fore

(C) yofen & fore

(D) & uf

fFrfoReg & ¥ ola-w e wifedn
RO BT YHR F&F 22

(A) afpm

(B) wfted

(C) srafvza

(D) fufea
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47,

48,

49,

50.

1034\A\2024-25

In a tapy
ble hEading of a coloumn Is/ 47,

known as .
@
(B)
()
(D)

Caption
Stub
Subject

Body

T
hese are two essential factors off

-

Construction of frequency distribution

: Distrihution and
(A) Mid value
@) Variable
(C) Point

(D) Table

Merit of graphic presentation are
(A) Easy to understand
(B) Saving of time

(C) Permanent effect

\Q) All of these

If the median is 31 and Arithmetic
average is 33 then the value of moae

will be :

(A) 27

(B) 29
(C) 37

(D) 32

48.

49,

50.

(15]

v TR & ey s wEe E-

(A) Iodirie

(B) it

(c) fawa

(D) &

yafr R & wamn & o & TS

(C) f&g
(D) et

fegvdra weef & o &
(A) THF ¥ W

(B) w4 & §aq

(C) I wvE

(D) o a

gk mitge 31 3R TR e 33 & Ay
YRros i eg @m-

(A) 27
(B) 29
(C) 37

(D) 32

P.T.O.
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51, P st 3 g O Ay,

51. In a series mode and median are

respectively 13 and 11, the value of a1 & I ATed A-

mean will be : (A) 9
(A) 9

(8) 10
’B_Cl 10

(C) 11
(C) 11

52. The Arithmetic mean of the number, 52. d&amEt 2, 7, 9, x, 6 B GANK HIEg 7

2, 7, 9, x, 6 is 7.then the value of x 3 o a9 o A Ame-
is
(A) 13
(A) 13
(B) 11
(B) 11
C) 10
(C) 10 ©)
(D) 8 (D) 8

53. Arithmetic mean of 4.4, 4.4, 4.4, 4.4 53. 4.4, 4.4, 4.4, 4.4 T FHFAR ALY B

will be :

(A) 1.1
(A) 1.1

(B) 2.2
(B) 2.2
(C) 3.3 (C) 3.3
(D)’ 4.4 (D) 4.4

1034\A12024-25 [16]
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54. The Mode of

535.

56.

57.

Will b -
(A) 1
(B) 2
©) 3

(D) 4

For
the Calculatipn of arithmetic

m i
€an the Class intervals should be :
(A) Exclusjve

(B) Unequal

(C) Equal

<R) Al are possible
Mode is :

56.

(A) The middle most value

(B) Least frequent value

{Q Most frequent value

(D) None of the above

The mean of 15 number is 15. If the 57
two numbers 18 and 12 are excluded
then the mean of the remaining
number is :

(A) 10

(B) 12

(C) 15

(D) 25

1034\A\2024-25 [17]

2.3,3,3,4,3,5,3,6,3,?,3 54,

55.

2,3,3,3,4,3,5,3,6,3,7,3aagaasgm-
(A) 1
(B) 2
(C) 3
(D) 4

TR e @ o 3 B iR 8
S

(A) Huasif

(B) 3mwM

(C) e

(D) W g @

TS & |

(A) &g &1 siftrsem qea

(B) W o gl aren Hw
(C) Ta¥ st gl aren e
(D) I # JF g &

. 15 GEIRl & " 15 9 T g @

wE 18 qur 12 Frow & s’ a9 I
Esh @7 Ared gn-

(A) 10

(B) 12

(C) 15

(D) 25
PT.O.
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__§§\\ -or calculating  average size\ 58, U® o

59.

60.

of oranges on 2 tree the most
appropriate average is
JA) Mode
(B) Median
(C) Mean
(D) None of these
How many quartiles can be calculatet
ina serieg?
(A) 2
B 3
(C) 4
(D) 5
Second Quartile is equal to :
(A) Mean
(B) II™ decile
(C) Range of Quartile

Q) Median

' 59.

Py el 39 I &

(D) T ¥ BE T
Wﬁé;%aﬁa@efaﬁa?rma&m
el &7

(A) 2
(B)
(C)

(D)

3

4

5

60. v age & 2-

(A) TTET
(B) feira sem®

(C) wgds famr
(D) Wi

61. Which of the following ‘s not & g1, fopg % ¥ BH-ar nfordra wrear 76 22

mathematical mean?

___L&) Mode

(B) G.M.
(C) AM.

(D) H.M.

1034\A\2024-25

[18]

(A) YRrss
(B) TUIRR AR
(C) |ATR |rEy

(D) RIH® AEd
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Correct?

(A e

\\3 GuM ¥ x__H M
B —

(B) HM. = VX< M.

If all i
all items of A series are equal :

Q) X=HM =gm.
(B) X>GM. >HM.
(C) X< G.M. < H.M.

(D) G.M. = ﬁm:

Qﬁil. First moment of Dispersion is :

65.

JA) Mean

(B) M.D,
(C) S.D.
(D) Q.D.
If S.D. = 15, Mean =
be C of V?
(A) 25%
(B) 50%
(C) 40%

(D) 60%

1034\A\2024-25

30, what will

63.

- 64.

65.

[(12]

ot 3 e e ¥ 7
(A) G.M. = JX-HM.
(B) H.M. = /X-G.M.
(C) X=/G.M.xHM.

_ X+HM.
(D) G.M. = XE3

of vewTen & Tt ug wwE & dl-

(A) X=H.M.=G.M.
(B) X>G.M.>H.M.
(C) X<G.M.<H.M,
(D) G.M. = /XxH.M.
SO JUdRRoT UTd SEd §-
(A) HHR ARA
(B) ey faraew
(C) sy famem

(D) ugef® foamm

Ifg S.D. = 15 @ Mean= 30 a C of

V &1 gnm?
(A) 25%
(B) 50%
(C) 40%

(D) 60%

https://www.rmpssuonline.com
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66. Co-efficient of variation is calculated.

67.

68.

69.

by :

(A) S.D.

(B) Mean

E} Both

.D) None of these

The formula of S.D. is *

(A) /MD

.B) Variance

(C) /QD
(D) JRange

Relative measure of Range is

+
@ e

B) +s
L+S

(€

[\

L-

wn

(D)

.

Quartile Deviation is :

® Q3£Q1
(8) 3%

Q3+Q1

(D} Q3‘Q:

1034\A\2024-25

66 ﬁwwa&mﬁaﬁé-

(A) S:P

(8) Mean
(C) Both
(D) & A BE T
57  mﬂﬁﬂaﬂs-f’-'ﬂﬁamg'

(A) YMD
(B) /Variance
(c) /QD
(D) JRange
68. TR &1 e A9 gl &

L+S

(A)

-
nowun

(B)

- -
+ +
n w

© =3~
L-S
0y =~

69. uqd® R -

() 32

() L3R
QS _Ql
Q3 + Ql
Q+Q
Q3-Q1

(€
(D)

[20]
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70.

deviation is -

fay 12

(B) 44

(C) 6

(D) 72

71. S.D.is €qual tg :

(D)

72. Karl

If varia
n 5
Ce g 144 then standard

Pearson's

20, oY RO 144 & & A FTe &

(A) 12

(B) 44

(C) 6

(D) 72

71. W frae aeR @ &

co-efficient  of 72.

Skewness is calculated by following

formula :

(B) =5

© XM

(o) %52
1034\A\2024-25

[21]

(A)

(B)

(C)

(D)

5
ZzM.D.

4

ngD'
4
“G—M.D.

2
_S_M'D‘

Fet U= & fawwan quiiss @ Torn &

&

(A)

(B)

(©

(D)

P.T.0.
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73) Statistical data is presented in  73. HifEsa

tabular form: Rt STl g;
(A) Before Classification (a) BT J U
~

(B) After Classification (B) T P

(C) During Classification
(D) None of the above

74. Properity, Recession and Depression 74.

in a business is an example of : FEIEIl &-

(A) Irregular Trend (A) ﬂﬁﬂﬁﬂﬂqﬁ'{
(B) Secular Trend (B) T T3
_(C) Cyclical Trend (C) H 'FIEEFCT
(D) Seasonal Trend | (D) tﬂ'ﬂﬁfﬁ%

75. Which of the following is the Most  75. frer 7 9 B wad fifaa A 29

Uncertain average?

(A) sgeid
\@) Mode |
(B) wiftzer
(B) Median
(C) Geometric Mean (C) TUiRR e
(D) Harmonic Mean (D) e
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